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1) Whippany manufacturing wants to estimate costs for each product they produce at its Troy

plant. The Troy plant produces three products at this plant, and runs two flexible assembly

Jines. Fach assembly line can produce all three products.

Required:

a. Classify each of the following costs as either direct or indirect for each product. (15%)
b. Classify each of the following costs as either fixed or variable with respect to the number of

units produced of each product. (15%)

Assembly line labor wages

Plant manager's wages

Depreciation on the assembly
line equipment

Component parts for the product

Wageés of security personmel for the

factory

Direct

Indirect Fixed Variable

2) Flyers Inc., had the following activities during 2017:

Direct materials:

Beginning inventory

Purchases

Ending inventory
Direct mamfacturing labor
Manufacturing overhead

Beginning work-in-process inventory

Ending work-in-process inventory
Beginning finished goods inventory

Ending finished goods inventory

Required:

$ 22,000
61,600
10,800
18,000
11,500

1,000
3,500
25,000
19,000

a. What is the cost of direct materials used during 20177 (5%}
b. What is cost of goods manufactured for 20177 (5%)

c.  What is cost of goods sold for 20177 (5%)

d. What amount of prime costs was added to production during 20177 (5%)
e, What amount of conversion costs was added to production during 20177 (3%)
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3) The Holiday Card Company, a producer of specialty cards, has asked you to complete several
calculations based upon the following information:

Incorme tax rate 30%
Selling price per unit $6.60
Variable cost per unit $5.28 Total fixed costs  $46,200.00

Required:

a. Whatis the breakeven point in cards? (5%)

b. What sales volume is needed to earn an after-tax net income of $13,028.407 (5%)
c. How many cards must be sold to earn an after-tax net income of $18,4807 (5%)

4) Lewis Auto Company manufactures a part for use in its production of automobiles. When 10,000
items are produced, the costs per unit are:

Direct materials $12
Direct manufacturing laber &0

Varizble manufacturing overhead
Fixed manufacturing overhead
Total

e
1 12

Monty Company has offered to sell Lewis Auto Company 10,000 units of the part for $120 per unit.
The plant facilities could be used to manufacture another part at a savings of $180,000 if Lewis Auto
accepts the supplier's offer. In addition, $20 per unit of fixed manufacturing overhead on the origina
part would be eliminated.

Required:

a. Whatis the relevant per unit cost for the original part? (8%}

b. Which alternative is best for Lewis Auto Company? By how much? (7%)

5) Coffey Company maintains a very large direct materials inventory because of critical demands placed
uponit for rush orders from large hospitals. Item A contains hard-to-get material Y. Currently, the
standard cost of material Y is $4.00 per gram. During February, 22,000 grams were purchased for
$4.10 per gram, while only 20,000 grams were used in production. There was no beginning inventory

of material Y.
Required:
a. Determine the direct materials price variance, assuming that all materials costs are the

responsibility of the materials purchasing manager. (5%)

b. Determine the direct materials price variance, assuming that all materials costs are the
responsibility of the production manager. (5%)

c. Discuss the issues involved in determining the price variance at the point of purchase versus the

pointof consumption. {5%)
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